

## THE BEST VARIETY AND FLAVOR IN SNACKS

from Ecuador - South America







#### About us

**Grupo Oro** is a company with more than 25 years of experience in the Ecuadorian market. Our production processes backed by the certification of Good Manufacturing Practices, allow us to offer our customers high quality products that meet the demands and expectations of local and foreign market.

We started with egg production which, thanks to the efforts of a great work team, became one of our main lines of business by being recognized for its unique flavor. Later we ventured in poultry production. A slow but steady growth, taking care of details and with a vision of the future, is what allowed us to venture into pork industry 10 years ago, and diversify into other lines of business such as: cattle, sausages, snacks and gourmet chocolate "fino de aroma". The latter is intended for the North American and European markets, and has received many worldwide awards for its excellent quality.

Based on the successful experience obtained by the exportation of our line of chocolate, and the guarantee that our permanent focus on quality ensures safe products that meet the requirements of the most demanding customers; we are entering new markets with our line of Snacks: chips, white carrots, sweet potatoes, etc. our own products from Ecuador of exotic flavors!

Check this link youtube.com/watch?v=gRnxMZnrkxU

#### Our products

Our products are made using the best natural ingredients from ECUADOR.

Flavors from de coast, mountains and the amazon region dance in our snacks to give our customers an exotic gastronomic experience.

All our products are NON-GMO and GLUTEN FREE.

"THE BEST VARIETY AND FLAVOR IN SNACKS"

Plantain Chips White Carrot Sweet Potato Native Potato chips

CUSTOM MADE 🗸



## Plantain Chips

Our plantain chips have an exceptional texture and crispness. Made from Maqueño, a variety of Ecuadorian green banana highly desired for its unique flavor, they are an excellent source of energy due to its high content of potassium and magnesium.

- $\checkmark$  0% Cholesterol and saturated fat.
- $\checkmark$  Made 100% with sunflower oil.
- Contains no additives, colorants or preservatives.
- ✓ Presentations: 45 gr. / 120 gr.
- ✓ Flavors: Natural Salted, Spicy and Lemon.

#### White Carrot Chips

Our crispy white carrot chips with their delicate flavor are a source of vitamin C and E, as well as calcium and iron.

- $\checkmark$  0% Cholesterol and saturated fat.
- $\checkmark$  Made 100% with sunflower oil.
- Contains no additives, colorants or preservatives.
- ✓ Presentations: 30 gr. / 75 gr.
  - Flavors: Natural Salted, Spicy and Lemon.



Its intense purple color derived from its high content of anthocyanins, make this exotic product a high source of antioxidants.

- $\checkmark$  0% Cholesterol and saturated fat
- ✓ Made 100% with sunflower oil
- ✓ Presentations: 30 gr. / 75 gr.
- ✓ Flavors: Natural

URMET EDITION

Camote

CAMOTE E



#### Native Potato Chips

Grown in the Highlands of Ecuador, this variety of potatoes will make you fall in love with its diverse colors and characteristic flavor. Added to their high antioxidant content, they make the perfect snack for any occasion.

- $\checkmark$  0% Cholesterol and saturated fat
- $\checkmark$  Made 100% with sunflower oil
- ✓ Presentations: 30 gr. / 75 gr.
- ✓ Flavors: Natural salted

## Packaging information

PRODUCT	BAGS/ BOX	BOXES/ PALLET	BAGS/ PER PALLET	NET WEIGHT/ BAG (g)	TOTAL PALLET WEIGHT (kg)
White Carrot 30 g	100	36	3600	30	154
White Carrot 75 g	40	36	1440	75	152
Sweet Potato 30 g	100	36	3600	30	155
Sweet Potato 75 g	40	36	1440	75	151
Plantain Chips 45 g	120	36	4320	45	240
Plantain Chips 120 g	54	36	1944	120	277

## **Custom Made**

Our production plant is also equipped to meet our customers' needs.

Place here your BRAND... we can elaborate any presentation or size!



# Our clients

At the moment, one of our plants specializes in private label production for more than 25 brands, nationally and internationally recognized for the quality of its products.

USA, Canada, France, Italy, Holland, United Kingdom, Japan, Argentina are among the main markets where our products are delivered.

### Certification

The quality of our products is enforced by rigorous controls, compliance and certification of health technical standards (Good Manufacturing Practices) and also looking for an improvement with the HACCP certification (Analysis and Control of Critical Points).

Our commitment is to ensure the safety of all our products and provide our customers with excellent flavor and quality.





# **Contact us**



José Andrade y Juan de Sélis. Quito-Ecuador

Ing. Marlene Espinosa (593 9) 202 6514

e-mail: mespinoza@grupooro.com.ec web: www.grupooro.com.ec